D196-1 Pervakov, Oleg - 11 points

9" WCCT, 2013

2" Place 1. Bgl![1.¥h1+? 2d6 2.¥h2+ Re7 3.%7h7+ 2d8 4.d5 B b6 5. Bfl Lfo-+; 1. ¥ed+? db 2.84e5+ Rd7 3. B gl W8l 4. H g7+
$28!=] 1... %% e6! [The battery!] [1..2d6 2. ¥4+ Re7 3. B q7++-; 1..&:d4 2. B g5+ Le5 (2..Reb 3. %4 :d4 B (3+4.2:b4 a5+ 5. B :a5)
3. Med+ 25 4. % b4+ 2d5 5.8 ed+ 25 6. We3+ b5 7. B e5++-; 1. %e8 2. B g5+ $2d6 3. M g3+ =d7 4. B g7+ R¢8 5. B g8+-;
1..Be6 2 Eq5+ 2d6 3. W g3+ =d7 4. Bd5+ Re7 5.8 g7+ 2e8 6. ¥ g8++-] 2. B g5+ Rd6+ 3.d5 7! [3.. ¥ :d5+ 4. & :d5+ £2:d5
5.%%e71+-] 4.d4! [Sudden move!] [4. 2 g3+? ReT=; 4. ¥ h6+? Luf6 5. B 5 R(7-+] 4...2¢T! [4..&:d4 5.%:d4 a5 6. % e5+ R¢5 7.Rad!
B (8 8.d6+ Rc6 9. Wed+ £2:d6 10. 27 d4+ 2e7 11. B e5+ $2f8 12. W d6+ =g8 13. B g5+ 2h8 14. ¥ e5+ 2h7 15. % h2++-] 5.4 g3+!
[5.%h2+? 2b7!-+] 5...2b6 [5..2b7 6. B g7+-] 6.%b8+ $2a5 7. ¥ b7 [The first thematic move] [Thematic try 7. ¥ d8+?! B b6!
(7..82b57 8.¥b8+ E b6 (8..2a5 9.%b7!+- and so on - see solution) 9. ¥ ¢8! $2a5 10. B f5+-) 8.4 ¢71? Thematic move in try 8... ¥ f6!=
(8..%4:c77 9.d6++-)] 7... B f6! [7..¥4:b7 8.d:c6+ b6 9.c:b7 R:b7 10.Rc4+-;7.. B 7 8. M7+ 7 9.d6+ b6 10.d:c7 7
11.2c4+-] 8. % 7! [The second thematic move] [8.%4c8? Lu:d4! 9. ¥ ¢4 H 3+ 10.e:f3 ¥ :f3+=] 8... % :e7 [8..L:d4 9. ¥4 :b4#; 8.. 2 b6
9. ¢5+ 2b7 10. B e5! b8 11. B e7+-] 9.d6+ ¥ e5! [Counter-sacrifice!] [9...£2b6 10.d:e7 Be6 11. Bg6!+-] 10.d:e5 &:e5[10.. B 1
11.d7 Bbl+ 12.2c4! Bdl 13.e6+ b6 14.e7+-]11.d7![11. B :e5+? $2b6 12. B d5 Bf8! 13.e4 26 14.2:b4 B d8=] 11... B d6

+ 6+6 [11.. B8 12. B 5+ b6 13. B e8+-] 12. & :e5+ 2b6 13. B e6! K :e6 14.d8 %+ 1-0

D196-2 Pervakov, Oleg - 10 points
4" FIDE Cup, 2015
3 Prize

1.2f71[1. B ¢3? Lell 2.f7 Qf6 3. B :h3+ 296 4.8h2 Lbd+-+; 177 Qg7! 2.8h2 Lbd+-+] 1. L:f6 [1..Q:f6 2. B g3 h6 (2..91Q
3.1 2h6 4. L4+ 205 5. B g5+ 2hd 6.8206+-) 3.0.F4+ $205 4. B :h3+ 2g4 5. B g3+ 204 6. B :g2+-] 2. B g3! [2. B g6? Lg7!
3.8.h2 Luh6! 4. gl (4. B g3 Qd6+ 526 Qcd=)4.. 297 5. H g3 2! 6.8:h2 Q5] 2...2h6! [2..8Lh4 3. B g6 L6 4. 802 L3

5. g4 206 6.2:08+-] 3. B :h3+ Lohd! [3..8205 4. B g3++-] 4. B hd+ [4.827 205 5.52:e8 L2 (5..247 6. B ha+1+-) 6.2e7 2g4
7.Eh8 £2f3 8. B g8 L:e3=] 4..82g5 5. E h8! [Logical try 5. B h3?! & d6+! (5..g1#7 6. B g3+ #:3 7.4.:3 Q16 8.0hd+! 2:h4 9.%2:f6
294 10.2e5 213 11.2d4+-) 6.L:d6 g1 ¥ 7. B g3+ s=f5! 8.4 (8. B ;g1 stalemate) 8... %2 g2! 9.2e7 ¥ ¢1= positional draw or
stalemate or 10. & g5+ ¥:g5+ 11. 895 £2:¢5 12.2e6 26! 13.2e5 2f7 14.2:e4 Reb6=] 5..g1 %% 6.L.F4+1 [6. B g8+? Qq7! 7. B g7+
$2f5 8. & ;g1 stalemate] 6...2g4! [6...52f5 7. B h5+ 24 8. B g5++-] 7. B g8+ [Switchback] 7... 2 g7! 8. B :g7+ 25 9.Lh6!! [The key!]
[9. B g3? Wq2! 10.%2e7 W g1 positional draw] 9...% a1 10. & g5# 1-0

+ 5+6



D196-3 Pervakov, Oleg - 11.5 points
18™ Russian Team Championship, 2013
1% Place

Ay

+ 5+7

D196-6 Pervakov, Oleg - 10.5 points
JT M. Hlinka-60, 2013
1t - 2" Prize

% L2 %%

- 546

1.Wg5! [1L.¥:7? B:7 208 g2+ 3.2g1 Bcll-+] 1. % f41 [1..%h7 2. Q3 &f2 3. Qgl++-; 1. Y5 2. ¥he+ g4 3. B ed#]

2.a8 ™! [Logical try 2.¥:f47! g2+ 3.22q1 L2+ 4.62:f2 g1 ¥+ 5.82:91 al t4+ 6,522 B2+! 7. Qe (7.Be2 B:e2+8.Q:e2 W:a7+
9.2d4 Wal+=)7.. . Wfl1+! (g1+)8.R:f1 Bcl+9.52f2 Hfl+! 10.2:f1 stalemate; 2. ¥ h5+? ¥h4 3. %% h4+ $2:h4 4 A3+ 2h3 5. H el
(5.8a3 Lf2=)5..92+ 6.2¢1 Ha87. Qg5+ Rg4=]2... B :a8 [2..%:g5 3. ¥ :c8+ M g4 4.87h8+! ¥rh4 5. % :h4+ R:h4 6. A f3++-] 3.1 :f4
g2+ 4.52g1 D.f2+15.2:2 g1l ¥+ 6.R:gl al W+ 7.2f2 Ba2+ 8. Qe [8.52:f377 ¥h1#; 8 He2? B2+ 9. Q02 Wa7+10.2d4
Wa2+=] 8... % g1+!! [Thematic move] [8.. ¥f1+ 9.2:f1 Bal+10.Qcl B:c1+11. Bel Biel+12.Re1*;8.. B2+ 9. B e2 fe2 (9..%a7+
10.%e3+) 10. ¥ g34#] 9.2:91 Hal+ 10.2c1! B :c1+ 11. H e1!! [Thematic move] [11.£22? & f1+! 12.52:f1 ideal mirror stalemate]

11... B :el+ 12,522 He2+ 13.2f1!1[13.2:3? Hf2+! 14.22:f2 second mirror stalemate] 13... & f2+! 14. 21! [14. el He2+ 15.2d1?
£2921=] 14... B g2+ 15.2h1! [Switchback!] 1-0

1.d8Q+! [1.d8 W7 184+ 2.4 (2.Red Wrf4#) 2. W f4+ 3. 203 Lfl#] 1...52g7! [1..2e7 2. B e5+ $2d6 3.h8 ¥ 14+ 4.2g6 Qb
5.5 Qe+ 6,207 Q:f5 7. 86+ 2¢5 8.L:f5=] 2. B T+ 2h8 3. QF7+ [3. B c4? f1 ¥+ 4,206 B :c4 5. Q7+ #:f7+ 6.82:f7 $2:h7-+]
3..92:h7 [3.. 87 4. B <l Luc4 5.296=] 4.2f6! [The B+AQ battery doesn't work: 4. 2e5+? 298 5.Le6+ L:e6+6.2:e6 1% 7. B 8+
™f8 8. & :f8+ R:f8 9.6 Lb2!-+] 4. Qd7+! [Novotny!] [4..Lb2+ 5. Qe5+ 2g8 6.8&h3 Le5+7.R:e5 f1 ¥ 8.8:f1 L:f19. B8+
4. F18+ 5 D5+ W5+ 6,625 &7 7. B 7+ 2¢8 8. B (7=] 5.&:d7 [5. B :d7? f1 ¥ +-+] 5. b2+ 6. Q e5 f1 ¥4+ [6.. L 05+ 7.2:€5
f18% 8.&.h3+!= And battery B+ works!] 7.<.f5+ $2h8! 8. B h7+ $2g8 9. B g7+ 218 10. B f7+! Re8 11. Be7+ 2d8 12. Ed7+ Re8
[12..82c8 13. B d1+ R¢7 14. B :f1 L:f1 15.5296=] 13. B e7+ 28 14. & f7+! L.:f7 [Ideal stalemate with two pins and promoted knight]
1/2



D145-1 Bazlov, Yuri - 9.75 points
JT Tata Steel-75, 2013
15t - 2" Prize

+ 5+4

D145-2 Bazlov, Yuri - 9 points
Georgian ITT, 2013
1% Prize

| /N/% » =

,,,,,,,

- 446

1.d7 &7 2. BEd6+! Rel (2...L&:d6 3.d8 %% h1y 4. %.g5 W3+ 5.82:96 ¥d3+6.2h6 +-) 3. B b Qe5! (3..Qf8 4. L4 Q:d7+ 5.2f5
2f1 6. Bcl+ 2g2 7. B 2+ 291 8.Le3+ 2f1 9.8 <7 wins) 4. Q:e5 (4. B 77 Q:d7 + draw) 4... L.d8+ (4. &:e5+ 5.R:e5 h1 ¥ 6. L.d2+
el 7. B eb wins) 5.297' h1% 6.L.g5! L.:g5 (6. ¥7d5 7.48:d8 4 :e5+ 8. Lf6+-) 7.d8 %% #4:c6! (7...L:d8 8. H 1+ +-) 8. ¥ a5+L.d2
9.%al+ ¥cl 10. 2d3+ $2d1 11. % a4+ (10. Q:c1? L3+ 11.%:c3 stalemate) 11... ¥ ¢2 12. 4 g4#

1. Bh3! &f11 (1. Be7+2.2:e7 2¢8 - or 2..&f1 3. B h1 Lg2 4. Bgl Ld55.Qf6! gf 6.gf Qco+7.2d7 Lf4 8. Bfl Qe5+9.2d6
9..8f310.2e6 Lgd+ 11.2d5 Qg6 12.Re4 Ldb 13.Bgl Qe 14.2d5 Lb8 15. Bel Lf3+16.2e6 QAgb 17.215 2h7 18.f7 Lcb
19.2f6 L4 20.Be8! Lh6 21. Be2 Lg7+22.82q5 &8 23.216 L.d5 24. B h2+ Lh6 25. B h3(h5) positional draw - 3. & f6+ gf 4.gf
A8+ 5.2d7 Le5-or5.Lf46.Bhd Ld2 7.2e6 L¢3 8. B g+ 2f8 9. B h4 positional draw - 6. Ba3 Lb7 7.8 a5 Qb6+ 8.Re7
£d5+9.2e6 =) 2. Bh4! HeT+ (2. Bed 3. 218+ B :h4 4Kgb+ Kph7 5.Kf8+; 2..&.g3 3. B h1(h5) Lg2(e2) 4 B h5(h1) 4.. &3 5. B h3
L.g26.8Bh5 Lf37.8h3 Lg48. Bhl Be7+9.%2:e7 2¢8 10.Qf6+ gf 11.gf A8+ 12.2e8 QAd6+ 13.2e7 =) 3.2:e7 Q8+! 4.2f8!
(4.2687 208; 4.247(e6)? 13 5. Bhl fg2 6. B gl Lh3+7.2e8(f7) 6+ 8.528 L2 9. Bhl £2:h7 10. 8B h3+ 26 11 B f3 Ld4
12.Bd3 @f5 13. Bdl Leb 14. B gl Lf4; 4,277 Qdé+ 5.%2e6 298 6. 28 - or 6.g6 Ld3 7.2d7 Qb5 8. Bh5 Lf49. A8 Qds
10.2e6 Q:e6 11.%2:26 L:gb6 wins - 6... Ld3 7.52d7 $2:f8 8.2:c7 2e7)4...Lg3! 5. Bh5! (5. Bh1?5..Ld6+ 6.2e8 L.g2 7. B hd
£.038.Bg4 Qdo+ 9.28 Af510.g6 Ldb+ 11.2e8 Lo+ 12.52d8 Le7+ 13.82¢7 Led - +; 5. B g4? 5.2 6.g6 L5+ 7.2e8 QAdb+
8.82d8 £.d39.2f8 g8 10.2d7 Lf511. Bad Le3 12. Ba8 Led 13. BbY La7 14. B ~ L.:g6 draw) 5...Ld6+ 6.2e8 Le2! 7. E h3!
298 8. Af6+! (7.967 Le7 8. B b3 Ld1 win) 8...gf 9.9f - and 4 main lines: 9...L¢4 10.£2d7 L4 11.2:c8! Leb+ 12.2d8 &:h3 13.7+
§2:f7 stalemate -1; 10...£.e5 11.52:c8 L.e6+ 12.2d8 L.:f6+ 13.52e8 L.:h3 stalemate -2;9...Lb5+ 10.52d8 Qa7 (10..2b6 11. B b3
=;10..&a6 11.2e8 Lb5+ 12.£2d8 Lab 13.2e8 positional draw) 11.f7+ $2g7 12, & g3+! L.:g3 13.f8 ¥4+ 2:f8 stalemate -3; 12...2f6
13. B f3+ 2q7 14. B g3+28 15. B g8+ 2:f7 16. & g7+! 16...52:q7 stalemate -4



D145-3 Bazlov, Yuri - 10.5 points
21t MT Z. Birnov, 2015
1% Prize

+ 5+5

D145-5 Bazlov, Yuri - 8.25 points
4" FIDE Cup, 2015
1 HM

1.0.f3 BEb5!(1..Had 2.8b4+-; 1. B8 2.Lc6! Hgd3.L:b7+ 2b8 4. Bd7 Bg3+5.2c4! B:d8 6.4L:d8 Hgl7.Le7! Bcl+ 8.52b5
8..Bbl+9.8.b4! h1¥ 10.&:h1 B:h1 11.2¢6 win) 2.2:b7! H 8+ (2.. B8 3.fe4 - if 3. B d8+, then 3... B :d8 4. Q:d8+ a7 5. QAcbH+
a6 6.7 Bc5+7.52b4 Bf5 8. Led h1#d 9.8&:h1h2 10.2b8+ Ra7 draw - 3.. B8+ 4.2d4 2b8 5.Lel B:b7 6.Lg3+6.. Bbc7
7.2c1 h1¥ 8.&:h1 Bd8+9.4&d5 Bdd7 10. B al+)3.£2d4! 2b8! 4.L.d2! (4.Lel? B b7 5.8Lg3+ Bbc7 6. Bal Bd8+7.Re3 Rc8
8.&.g4+ Bcd79.Bbl He8+=)4...B:b7 5.8F4+! BEbc7!(5..2a7 6. Bal+ b6 7. Bbl+-)6.Ball (6. Bc1? Bd§7.2e37..Bdd7 =)
6. 2d8+7.2e3! R¢8 8.Lg4+ Hcd7 (8..2b7 9. Bbl+ $2¢6 10. Bcl++-)9.Bb1! (9. Ba7? He8+10.2f2 10.. B ee7 =)9... K e8+
10.5212! £2d8 (10..h1Q 11.2q1 2d8 12. g5+ 27 13. B 1 b6 14.8.:d7 H g8 15. B 6+ b7 16. B 5 16..Q¢3 17.8eb Hqg7
18.2h2 Qe4 19.8.d5+ b6 20. H c6+ +) 11.L.g5+ Hde7 (11...2¢7 12. B c1+ 2d6 13. Bd1++-)12. Bc1! 12... B 8+ 13.52¢g3
hi1Q+! (13..52e8 14.&h5+ Bef7 15.Bd1 h1Q+16.2h2(h4)+-) 14. B :h1! 2e8 15.&h5+! Bef7 (15..2d7 16. B d1+ Re6 17. Bel+
+-)16. 2 d1 wins.

1.%a8! La3+! 2.%:a3 ¥:h2 3.Le6! (3.2d7+ g8 4. ¥e3 2h7 and white can't win) 3... A :e6+ 4.$2d7+! 2¢8 5.f5:e6 5... b8!
(5..f7:e6 6.%e7! ¥rd2+7.52e8!+-) 6.2 f8+! (6.77 ¥b7+ 7.52d6 b6+ 8.2d5 Web+! 9.82c5 Me5+ 10.£2¢6 10.. Wed+! 11.2b6
We6+! 12.2b5 W d7+! draw; 6.%a6? f7:e6 7.%%:e6+ $2h7 =) 6... % :f8! (6..2:f8 7.e7+ 28 8.e8 ¥+ 8.. ¥ :e8 9.52:¢8+-) 7.e7 ¥¢hé!
8.e8%%+ 2h7 9.4 :f7+ 2h8 10, e8+! 2h7 11.¥e7+! (11. M ed+ loss of time) 11...826 12.67 #h3+ (12.. ¥ d2+ 13.2e8+) 13. B e6+
¥ .06+ 14.52:e6+ $2g7 15.2e7 win.



D141-1 Arestov, Pavel - 11 points
6™ Arves Jenever, 2013
Prize

= 3+4

D141-2 Arestov, Pavel - 9.5 points
18™ Russian Team Championship, 2013
31 — 4" Place

- 446

1.d7 2e5! (1.. Qb4+ 2.2d6 Lh2 3.d8 % L:f4+ 4.Re6 =) 2. Ad3+! (2.d8? Qdd+ 3.R¢5(b6) Qeb+ -+; 2. QAgb+? Red! 3.d8Y QAd4+
4.2d6 Lh2+5.82¢5 Qeb+ -+) 2...2e4! (2..2e6? 3.d8 Y Qd4+4.52b6 +-) 3. QF2+! (Try : 3. Ac5+? L:c5 4.d8 ¥ Qd4+ 5.2:¢5 Qeb+
6.2d6 £ :d8 -+ (N0 black Lug1!)) 3...8:f2 4.d8 % Q1 d4+ 5.82¢5N (5.82d67 g3+ 6.82¢5 Qeb+ -+; 5.2b67 Qeb+ -+)

with:

A)5...Qe6+6.2d6! Q:d8 - mirror stalemate N21.

B) 5... B h5+ 6.52b6! (Try: 68247 H 5+ 7.82:¢5 Qe+ 8.52d6 2 :d8 (no black & h7!)-+)

6...Qe6+7.2a6! Q:d8 - mirror stalemate N2.

194+ (1. B:3+7 B3 2903+ W2+ 3802+ 2:02 -+)

A)1..82¢2 2. B :h3 (2. ®ad+? 2b2 3. B:h3 g5 4. Qe6 Wre5! 5. Q:c5 #g7#)

2...Bh5+ 3. B :h5 ¥ :h5+ 4,298 ¥h8+!! 5.2:h8 g5+ 6.1 d4!! (Try: 6. % e5? L.e5+7.82h7 g4 8. Qeb (8. AF7 Lf4l -+;8. Q6 Lfb! -
+)8..93 9.5 g2 10.20h3 243! 11.82g6 2ed! 12.825 23 +; 6. 2467 L :f6+ 7.2h7 Sb:d8 -+) 6... L :04+ 7.52h7! g4 8. L1 e6 Le3!
9.2g7!¢3 10.2f5! g2 11. & :e3+ check, b on c2, draw.

B) 1...£2b1 (1..2b2 2. & :h3 - main line) 2. B :h3 (2. B g1+? 2a2 3. ¥f7+ b2 -+) 2... Bh5+ 3. B :h5 ¥:h5+ 4.2¢8 ¥h8+!! 5.2:h8
g5+ 6.%%e5! (Try: 6. ¥ d4? L.:d4+ 7.2h7 g4 8. Qeb (8. Q17 Lf6! -+)8..Le3!9.Qg7 g3 10.Qf5 g2 (b2 on bi, no check!) -+; 6. ¥4 f6?
Qf6+ 7.52h7 L:d8 -+) 6... L :e5+ 7.52h71 g4 8.2 e6 g3 9.2 g5 2 10. 2 h3!, draw (10.23? 2¢1 11.82¢6 2d1 12.2f5 2e2
13.%2e4 f.h2 -+)



D141-5 Arestov, Pavel - 8 points
UAPA, 2014
15t - 3 Prize, Section A

+ 5+4

D141-6 Arestov, Pavel - 7.5 points
MT Y. Kalugin, 2015
Prize

1.e6! (1.Bg2? 2e3! 2.e6d5 3.e7 Bhl+! 4.€2:h1 f1¥%+5.2h2 W¥al 6. Bd8 W d5+ =) 1... Bh1+!(1..d5 2. Bh8 +-) 2.2:h1 f1 ¥+ 3.2h2
(3. B g7 Brh3#) 3. 243 (3.5 4. B 8 +-; 3. W)+ 4. B g2 +-; 3..de 4. B gie6+! £23 (3..52f2 4. H ed+! $2:3 5. H 2e3+ 2g4 6. H g3+
2h4 7. Bh8#)5. B d8+ $2c4 6. B c6+ 2b57. B 2! ¥:f3 8. Bb8+ Rab 9. Hal+ +-) 4.ed+ 21! Play for stalemare. (4..522 5. B g4! -
main line.) 5. B g1+! (Try: 5. B {67 ¥ :f6 6.d8 ¥ ¥rh4+!1 7. %% :h4 - stalemate. Try: 5.d8 %47 ¥ g2+! 6. & ;g2 - stalemate) 5... 522 6. & g4!!
(6. B e2+? R:e2 7.d8 ¥ Wrh5+8.82q3 g6+ 9.52f4 ¥:g1 =; 6.d8 ¥ ?7? ¥rh5+ -+) 6... 1! Play for stalemate (6..%%:g4 7. B f8+ Re2
8.d8 %% +)7. B eg8! (7. B g1+? 2f2 8. B g4 2f1 - loss of time) 7... ¥ e2 (¥ f2)+ 8.2h1! (8. B 27 ¥ h5+9.%2¢3 We5+ 10.2h4 ¥ d4+
= 8.2h37 We3($d3) =) 8... B3+ 9. & g2! with:

A)9...¥h3+ 10. £ h2 ¥f3+ 11. & gg2! 2el! Play for stalemate (11..¥d5 12.d8% #:d8 13. & g1#) 12.d8 & M win (Try: 12.d8 % (d8R)?
W1+ 13. B gl W:g1+! 14.82:q1 - stalemate; 12.d8£7 $2f1 13.£8.q5 ¥ d5(¥c6) 14.Lh6 W ag(¥b7, ¥ c6) =)

B) 9..%h5+ 10, B h2 #d5+ 11. & gg2! W :d7 12. & g1#

1.g3" (Logical try: 1.g4? #%:c4! 2.c7+ a7 3.Le3+ fud4 4.8 d4+ ¥:d4 5. % a8+!? $2:a8 6.c8 4+ Ra7 7. % :a6+ 2b8 8. % b6+ ¥ :bo+
9.82:b6 g5(£2¢8) 10.2¢6 R8 11.2d6 d8 12.Reb 2e8 13.%2f6 218 14.296 28 draw, w.p. on g4!) 1... % :c4 (1. ¥4 7+ 2.Ra4 +-)
2.c7+ Ra7 3.%.e3+ L.d4 4. L.:d4+ £4:d4 5. % a8+ (5.8 Y7 Wrd2+! 6.2a4 Wal+ 7.2b4 b2+ 8.Ra4 (8.82¢5 M2+ =) 8. ¥ral+=;
5.08Q+7 2b8 6. Qb6 W5V c3)+ 7.2:a6 a3 8.52b5 #b3+9.82¢5 e3+ 10.2¢6 Web+ 11.52b5 #b3+ =) 5...2:a8 6.c8 ¥ + 2a7
7. :a6+ (7.2 c7+? 2a8 8. %48+ 2a8 - loss of time) 7...2b8 8. % b6+! ¥ :b6+9.52:b6 2¢8 (9..95 10.2c6($2c5) +-) 10.2¢6 $2d8
11.2d6 2e8 12.2e6 28 13.2f6 2q8 14.52:96, win, w.p. on g3!



D247-1 Miljanic, Mirko - 11.5 points
4" FIDE Cup, 2015

1% Prize

7,

%@@% %
0. Y

5+4

1.c6+ 2a8 2. Ac7+[2.¥:d7 7 2. B e+ ! 3.3 ¥f8+ 4.R:e2 ¥f3+ !5 2:f3 stalemate!] 2... %% :c7 3. B g8+ K8 [3.. 287 4. % :c7+-;
3..a7 4.%%:d7 Bf4+5.92e3 Bf7 6.87d4+! +-] 4.2 :f8+ Qb8 5.%h6!! [5. 247 stalemate!] 5... % h7+! [5.. ¥ e7+ 6.52d5 b4 7. ¥l +-
16. 25! ¥:h6 7. Ba5+ Qab 8. B :a6+ 2b8 9.c7+ R:c7 10. & :h6+- 1-0

Judge: Brilliant sacrificial anti-stalemate play on an open board, with the heavy cannons absolutely free. The battery Rook-pawn is created
already in the first move to trap the black queen by checking her king should he move to the sixth rank. Following an amazing journey
highlighted by 6. B f5!! the very same rook eventually lands on the other side of the very same battery line to complete the initial job by role
exchanges with the pawn in regards to the enemy royal couple. A highly original concept presented in an exemplary setting. A remarkable
achievement!



